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► experiment ↔ theory 

► isospin decomposition

► conclusions
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Mππ δππ

Tp = 895 MeV

Tp = 1000 MeV
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pp→ppπ0π0 Tp = 1100 MeV.
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M121

ΔΔ= 121121 MM ⇒
in 4 times bigger ΔΔ cross 
section in ppπ0π0

Mππ δππ

ΔΔΔΔ −= 121101 5MM
Tp=900 MeV
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Δ(1232) Δ(1600)

very small amplitude

according to Valencia model
MΔ=1500─1700 MeV ⇒

threshold energy ≈ threshold energy ΔΔ

ΓΔ=200─400 MeV ⇒

can contribute at low energy
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Conclusions
• contribution from particle with spin 3/2 should be 

added  in model description      
Δ(1600) – possible candidate

• pp → pnπ0π+
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